| Efficiency vs Dxy |
0.1

0.09
0.08
0.07
0.06
0.05
0.04
0.03

......................

0.02

0.01

1.

0.95Ft--t:

1F-4-4;

M

- @00 - - 940 4

0.9

)

0-15-10 -5 0 5 10 15 20 25

| Efficiency vs Dz |

0.2
0.18
0.16
0.14
0.12

0.1
0.08
0.06
0.04
0.02

1.

0.95

-30

—— DQM_DisplacedSUSY__ mkFit_

—=— DQM_DisplacedSUSY__mkFit_BDT_

[TTTLTTT]
L§!

_I—!—ﬂ?:HI!III!III!
=='=

....................................................................

e 2

:ﬁ#?#ff%ﬁ#?ﬂ%

R - 294

-9 -9 99009 -

~20

~10




	Contents
	Page 1


